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CHEMISTRY
| (Hindi & English Versions)
: Total gotal }?rilnltf_(li Time : Maximum
| Questions : 19 ages - 3 Hours | Marks : 70

Blank

b e e e e e e o ——— e e

e -
() G UyT A ¥
(i) U w1 ¥ 4 7% agiTe geu € Rh He 28 ofF ¥
(iii) W9 HHH S ¥ 12 dh, YA® U 2 3k B T | (9= A= 30 9r=)
(iv) ¥sT HHIH 13 ¥ 16 T, T W9T 3 3 B ¥ | (U W TS5 =)
(v) e wHiE 17 % 4 ik Fraffm ¥ 1 (= 90 120 =)
(vi) s HHiD 18 ¥ 19 TF T% YT 5 3% B ¢ | (31 WA 150 9=)
(vii) 957 HAH 5 Q 19 % TIF ¥ amaite faee A ™ ¥

Instructions @
(i)  All questions are compulsory. .
(ii) Question Nos. 1 to 4 are objeclive type questions carry total 28 marks.
(iii) Question Nos. 5 to 12, each question carries 2 marks. (word limit 30 words)
(iv) Question Nos. 13 to 16, each question carries 3 marks. (word limit 78 words)
(v) Question Nos. 17 carry 4 marks. (word timit 120 words)
(vi) Question Nos. 18 to 19, each question carries 5 marks. (word limit 150 words)

(vi) Internal choice is given in every question from Question Nos. 5 to 19.
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1w e gaey fafed
i) UH TH ¥ -
(a) STAFTD
(c) urfer

(b)

(d)

1 XT="

Seed
qEgarss
(i) Tre afte ¥ 8:8 ay<ad §&T U Wiy ¥ 7

@ MgO (b) 4103

(c) CsCl (d)  NaCl
(i) TN BEE B qe A HE AN A T -

(a) As2S3 (b) fafes

()  Au (d) Fe(OH)3
(iv) Fama & -

(@) Hg2Ch (b) HgCh

(¢) HgyClp +Hg (d) HgCly, + Hg

(v) Tpa @fts o offedieH +2 JTerdieTor St et &t & 7

(@ H-O
() OF

(vi) TR SAET ¥ -
(a) UITTATES
(c) TR @

viD) Pt ¥ A B9 W@ dws & °

(a) WHHA
(©) HIHT
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Choose and write ¢coppect oplionsg
(i) Dy ice is -

(a) lonic (b) Molccular

(¢) Metallic (d) Covalent

(i) Which compound hag 8:8 coordination number ?
(@ Mgo (b) 4103
) CsCi (dy  NaCl
(i) Sol which acts as protective colloids is -
(@) As5783 (b) Gelatine
(€)  Au (d) Fe(OH)3

(1iv) Calomel is -
(a) HgoCh (b) HgCh

(¢} HgyCh +Hg (d) HgCl + Hg
(v) In which compound oxygen give +2 oxidation state ?

(@) H0 (b) NaxO

(c) OF> (d) MgO
(vi) Nylon is an example of -

(a) Polyamide (b) Polythene

(c) Polyester (d) Polysaccharide

(vii) Which is Tranquilizer in the following ?
(a) Seconal (b) Streptomycine
{¢) Morphine

/ E-218 3

(d) Paracetamol
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2 frm W # R AR 1x7=7

(i) N g % fped O Ty ¥

(i) offpar @ @ fERE % W % il &
(1i1) W______ﬁiﬁqﬂﬁm% |

(iv) TR B S (2

(v) T oifyw e YAl e T

(vi) T P TGEH © |

(vii) R afaftr &

Fill in the blanks :

(i) Crystal systems are total ___ . types.

(il) The rate of reaction is t of concentration of reactant.
(iif) Coagulation is opposite of ___

(iv) The formula of Fluorspar is

(v) The highest electron affinity has _ element.

(vi) Teflon is a poymer of

(vii) Furacin is  drug.
3w W s - (x7=7
A B
(i) @@ (a) XeFy
(ii)  Erge (b)  CeH1206
(i) @A (c) RNH)
(iv) T s @ - co
(v) TR sme o (e) - CaSiO;
(vi) wrafre T (D HS04
(vii) e (0) sfreda d@

(hy CyHsOH
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Match the pairs correctly :
A

(i) Glass

(ii) Slag

(iii) Square planer
(iv) Neutral ligand
(v) Sprit of wine
(vi) Primary Amine

(vii) Glucose

4 % y=faem ¥ s fafeg
() onéivee @i fWRae |

(B
(a;) | XeFy
(b CoH1206
(¢) RNH?
(d) co

(e) . CaSiO3
® 1 HSO4

(&)’ Amorphous solid
=)

(h): CoHSOH
o

(i) W%Wﬁaﬁaﬁmﬂamwﬁrﬂm|
(iii) Iifrsege & KCN ﬁsmaaﬁraﬁrmﬁﬁmmwml
(IV)W@?W@&@WHﬁWﬂ ?

) wmam%smﬁmﬁw;ﬁﬁﬁaﬁrﬂm%ﬁml
(vi) UM @ Thad fagg | C
(vii) Frll T waTmsh @1 AW faRag |

Answer in one word/sentence :

r

e,
b ]
r

(i) Write Arrhenius equation. -

(ii) Write the name of noble gas which is used in theraphy of

cancer.

¥
P

1x7=7

(iii) Write the name of condenfs\é?ion reaction of benzaldehyde with

KCN .

‘ A

(iv) Why tertiary amines not giifé acylation reaction ?

(v) Write the name of protein which is present in hair, wool and silk.
(vi) Write the monomer of polythene.

(vii) Write the name of any one antipyretic,
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5 T & Hiaad §d sy | 2

Calculate the molality of water.

sua / OR
Hiercar B aRaiya e |
Define the Molarity.
6 arfugimer ofx srasiwer ¥ @ X faRaw | 2

Write two differences between adsorption and absorption.
Jyar / OR
TN TR @ afeaive S |

Define the Brownian movement.

7 omitE & F@uae S e 8, @l 7 2
Why ammonia has high boiling point ? |
3Er / OR
Yl ¥ GEHT J9 o § Ul War g, ;7

Why sulphur founds solid state in nature ?

8 Fhm TN ¥ ¥, ;i 7 2
Why halogens are coloured ?
¥ / OR
o TE ofea o ¥, =@ 7

Why noble gases are inert ?
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9 Prpeam o WHE M ¥ D oy fefad |

Write iwo differences between double salt and complex compound.

A / OR
P auaEddnl AR F 1UPAC 7 ffag :

(i) Kg[Fe(CN)g]

(i) [Co(NH3)6]Ch

Write JTUPAC names of the following coordination compounds :
(i)  KalFe(CN)g]

(i) [Co(NH3)6)Ch

10 wafe & fadias TiF % 3arecy fafge o
Write examples of primary and secondary. amines.
g / OR
™R W@ § e e ¥, @y 7

Why amines are soluble in water ?

11 e oo feg weq & 2
Write the definition of Zwitter ion.

Aqyq / OR

DNA 8t RNA & g arx fifan |
Write two differences between DNA and RNA.
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12 W’a‘rmﬁﬁ%’f%wﬁrﬁ@'

Write names of any two antibiotics.

Jya / OR

Wﬁﬁqugﬁﬂﬂﬁﬁﬁﬂﬁl

Write names of any two artificial sweeteners.

13 uﬁS.SSmNaCIZSOWWﬁﬁIﬁH%,?ﬁWEﬁWﬂT

SISECU

5.85 gm Nacl dissolve in 250 gm water. Calculate the molality of squtio"n.'
sigEr / OR

@H%S%ﬁmﬁ'%ﬁzsocwwmﬁmw !

R=0.0821 frex argavew | WHE @ HTIR = 180

Calculate the osmotic pressure of 5% solution of glucose at 25°C‘.ﬁf

R=0.0821 lit. atm. M.W. of glucose = 180

14 = @i afalem # e wied @R
Explain zero order reaction with example.
g / OR
wer #ife affear & Seeer wfd gusEd |

" Explain pseudo order reaction with example.
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15 Fra A & Faw wahe ede il 3
() U ¥ SHuRm fax
(i) SHRUUE FUT ¥ udntw o
(i) T ¥ P e
Write only chemical equations for following conversions :
(i) Ethanol to diethyl ether -
(ii) Diethyl ether to ethanol
(iii) Ethanol to ethyl acetate
st 7 OR
e oY TeRE ¥ W AT om Rfed |

Write any three differences between phenol and alcohol.

16 fraffaa % IUPAC - fafed @ 3
(i) CH3CH(CH3)CH,CH2CHO
(i) CH3CH = CHCHO
(iii) (CH3)3C CH,COOH
Write the IUPAC names of the following :
() CH3CH(CH3)CH2CHyCHO
(i) CH3CH = CHCHO
(iii) (CH3)3C CH,COOH .
syar / OR

P orfafFrell & wEEte oiew SiEd
(i) ufbw arfufsa

(i) SPomr arfufar '

(iii) TerE st

Write chemical equations of the following reactions :
(i) Perkin reaction
(i) Cannizaro reaction

(iii) Rosenmund reaction
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17 w0 g ¥ w9 (baw TEmEbw gEeor i) 4
() n-ofRw FRES & IS KOH % W sftwgd fpr wmr ¥
(i) W%mﬁw@ﬁﬁmﬁq@ﬁmmﬁﬁ?ﬁ% |
(iii) g $ox @ suReRy ¥ AT B afwlen FHREm § o ¥
(iv) ¥ waee B fea TERETNS KON ¥ O ¥
What happens when : (Give only chemical equation)
(i) n-Butyl chloride react with alcoholic xOH .
(i) Methyl bromide react with sodium in the presence of dry ether.

(ii1) Bromo benzene react with Mg in the presence of dry ether.

(iv) Methyl chloride react with alcoholic xCN .

Gt / OR
P affearell % TS e Rifed
(i) ffor oeReen
(i) g b

(iii) dvsnaT sfufsean

(iv) Whisd e i

Write chemical equations of the following reactions :
(i) Fittig reaction

(i) Hunsdiecker reaction

(iii) Sandmeyer's reaction

(iv) Friedel Crafts reaction
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(8 e MO H SR wha wwemgy we gk A oA fafag |

Explain Kohlraush law with cxample and write its two applications.

s / OR
P @ TR A

(i) faRre =

(i) gearent ST

(iii) oTfvaes aTeehaT

(iv) ¥ feri®

(v) fufire wiey

Define the following :

(i) Specific conductivity
(ii) Equivalent conductivity
(iii) Molar conductivity
(iv) Cell constant

(v) Specific resistance

19 wdEs wd uHEEs ¥ ®iE Ut e faRed |
Write any five differences between Lanthanoids and Actinoids.
J9qr / OR
B Tl B WA Szt e fiied wd wwao ol % e 9x
SfeTafies o # gusET |

Write general electronic configuration of transition elements and explain

any four characteristic properties of transition elements.
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